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[ Max. Marks : 80

Jn. . Ans. [ Marka

St Koy Value Pailnta ailotrad
L. Multiple choice guestions ; Bx1=8
| ne H.GLF. of any teo prime numbers 15
(A 0 B -3
(1 1 Loy -1
Arns
15 S B I
’) Ihe degres of the polynomial P x) = 3x7 = 827
Gx—3 is
Ay 3 Bl 2
| e | oy o
Ans
(A [ |

RE-A [MA) TLER DV
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].?: ‘;;;; Value Points Mﬂ .
3. The voordinstes of the midpolat of the ne segment
jeining the points (3, 4) and (5, 6)is
[AF (=% =35) Bl 4. 3
€] (4.-5] i =
Ang, . |
| B8] | |34,5) i
|
4. The probability of winning a game is % : “Fhe
probability of losing the same game =
! 2
L I (B 7
I 1
|1¢} = 1= |
| Arns. .
o | L |
4 I
B, In trangle ABC if BDE || BC, then the correct :
relaticn among the following is; |
A |
|
o = N |
Al AE AR B¢ l
W Ep = Ee ™ %p " Eo
y AD _TE DE _ AE
€ ZE = & M - 4o |
Ans [
| A AR _AE |
: BD EC I
6. | The distance between two parallel tangents in EI|
| clrcle of raditiz 3 cm'is
| {4l B om (B} L5 om
101 9em D] 6ecm _
i Anz. |
[ [} | 6om |

_RR:-A (MA]
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e ;“'; ! Value Points _ﬁ:ﬁd
st The formula to find the wolume of & solid cylhinder
| having base radius v’ and height 'h'is
(A] ¥ = 4nr? Bf ¥= =mrn
@ V= arl D V- ek
Ans, :
(B) V=nrh 1
g, If the n™ term of an arithrietic progressionis a_ =
2n+ 1 thenlts| a- 11" térmis
[A) [2n-2) [B] F2r+3)
[ [2ra=1) Dy 2n
Ans, :
G R =1 |
Qn. - Marks
Nos. Valos Points lnﬁ“-ii
1. | Answer the following questions : Ex1=8
g, | According to Euclid’s diviston lemma, if 13 = 4«3 = n |

| then find the value of v

FARs

T

1

|0, | How many solutions da the pair of linear equations
x+2y-4=0 andde=dy—5=0nhave 7

B

| Arns,

gy =1 b=0 g =-8 d,=3 b=2 £,=-5
I R O R o .,ﬁ
d, 3 b, 2 a, b,

ane [ unigue |sehdtion L&
f x/7, 10 ..., are in-arnthmetic. progression -thety wrte the
value of X
Ans

e

| ER-A [MA) | Turm over
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il Valuo Points e
_Nos. | altotted |

12, | Find the sum of the zerces of the polynomial

Flz]=x% -5x+6

Ans.
-b_~|-5)

sumel 2eroes o+ fle—=—— =
o 1 1

13, | Find the value of the diseriminant of the gquadratic

EryiLELio

¥ _5k+1 =10.

Ans, :

da=1 b==5 r=1 |
| &% —dae = {51 -4%lIx]=25-4 1 ‘
Value of discriminant = 21 Y i

;|:|_i Write the formula to find the area of a mangle POR having
|vertices Ploxy . gyl @0 x50 wy) and R{xy, )

|

| Aris ! ‘

1
srea ol .:'.PDE[A]:;I_.&:I (T =2y I+ [ =0y b=y {1y —ua ]

{5, I Inn the hpure, name the side ol tmangle POR which s
| corresponding to the side AB of triangle ABC, !
H i

Ans. ;

PR t
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Qn. Marks
Fal
Nos. AR TR allotted

16 | Write the [ormuls to find the surface area of 8 sphere
having radius ¥ units,
Ang, :
Surface area of sphere = dn P B ks 1
Note. | Give full marks for direct answer from guestion no. 9 to
16,
I Answer the following questions : Bx2 =186
17. | Prove that 2 + 3 is an ircational number.
OR
y 20 —_—
Show that the rational number 187 has non-terminating
1
decimal expansion without performing long divislon.
Ans
Let 2«43 be rational
that iz Eﬁﬁvﬂgwhﬂﬂﬂ.ﬁEE.b#ﬂ 4
Reerranging the guation
T
L '3
VBar -2
. =20
L b
. . . . a —2b | d
Sifce g and bars intogers, we get s rationai and 30
¥3 is rational. W
But this contradicts the fact that 3 s trrational,
This contradiction has arisen of ur incorret assumptiomn,
So we tonelude 2+ 3 s an irrational number: ¥ 2,
O

RE-A jM.P.:I_ | U GYET
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Valoe Points
Hos,

147 = 3x7° Wy

Here the denominator 147 can not be expressed in the
form 2™« 5™ Sl

23 has non-terminating
147

decimal expansion. I
18, | Find the solution far the given pair of linear eguations -
= SR e
e e -
i A
[ T [ s D [ 1]
2x - =H 2
! i Bl Addite (1) and (2
| = 18 .
| e 18 "
Subsituting x = 6 in equation (1)
xty=10 i
B -y =10
' = 10/~6
fr= &) Wz

Note o Anveother suitkble method is followed ta et the
correct answer full marks should be given.

1o Find the 21® term of the arithmetic progression 3, 9, 13,

..... by using formula.

Ahns,
T O I RS hers
a=5 d=9-5-4 n=2l a,=? e |

g, =g+{n=1)g

Mgy =3 = [E1=]1)u4 Fy

Marks

_allotted

———
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Qn. Morks
Niss _"-".ulut Paints lottid

By = B+ 20 =4

gy = a+80

2y = B3 Vel o

20 Find the roots of the equalion x"':'; - Jx -1 =0 =ng

gquadratic formula,

square method,

Ans:

£*—3x +1=0 comparing with

5
e kB e=10

ja=1 '‘b==3 =1

-h+ h‘? ~ 4
rm——
e

Solve the cquabon Xt —3x-10=10 oy compieiing the

OR

2]
3+ Jo-a
I.x_ 2
*_H:E
=)
‘E_z-g.@ ar

il
x__-[-3|=,|rq__aﬁ-qxtx1 : |
[
|
W
|
o S'f i |
IR
half the coefficient of x
. |
e
5
B =2 [
o S 4
adding &% o hoth sides i

X% —3%=10

x2—3x-i= 10+
A

_RE-A [MA) TUrn over

e A e
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© Q. Marks
Mok Value Poinks 4
3y 49
== Taking square root on bath Lthe sides: Y
{5_1}2 -+ [
2 “Ya
P
£ 2
=
k=gl
& 2
&Iy -7
Eman S
C 22 g il -
::3_'?' I=£
' 2
10 — i
X == W=
2 2
x= 5 |x=—E b 2
a1, | in the Fven Eg;;qt,- find thevalues of ooz o and tan B
| Ans [
™ |
|
| %
|
| ~|'-_'E 4
| \\
|
B ﬂ\f\v
|
i GO 23 !
|

RR-A [MA) |

————



L3
P f s

-

a 5 £

in‘triangle AGC, LH=30°

Ins trigngle ARD < Bo= G007
ALY = AR BD*
B = AT — B L e 2 )

'CCE ER 9 Bl-E
on. =0 Macks |
Hus. biatigai i allotted

% A bax consisls of 9 cards which are numbered from 10 G
18, If one card is drawn at reandom from the box then fnd
the probahility of getting a prime number.
ANE. |
&)=
afAl=113171=3 W5
niAj
Pla)=—— i
(A Als)
5 .1 [
Pld)=S= e b
(Ak=5=3 2|
2. In triangle ABC, | ABC =90° and D is the midpoint of
BC. Prove that AC? = AD? + 3007,
A

.R'.EA-LML ! Turn aver
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Qi Marks:

Value Points

Substitute 2] in equation ( 1 )

ACT=AD® - gp? B

BD=0CD, BU=2CR W

AC*=ADt LoD s Eny

AC? - AD* - Dt +acD?

| AC® - AD® +acD? | V

23, Construct bwe tangents tooa circls of radivs 3 cm from a

point 7 om away from its centre.

|ﬂn5.:

Constructing the circle ¥
| Bigecting OF My :
Constructing tangents AP, 8P 1|
v, Answer the following guestions : 13227

Find the sum of the first 90 positdve integers divisible by 6, !

b
A

OR

|
:
The secondd and third terma of an afthmetic. progression |
are 14 and 18 respectively, Find the sam of the first |

26 terms of the Arithmetic progression using the formula, |

CRR-A (MA]
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:::_l Value Poinks. lﬂﬂll_l_':g_
Ans,
B+ 12+ .o, G0 teTma W
a=6 d=12-6=6 n=140
S,f%[ﬂnvqn—lbd] 1
A0
Ew:?[ﬂ"‘ﬁ":“"” 6| l.-al
8,5=20]12+39x6 |
S.5=20]12+234 | e
Sup=20(246
Sy =4920 W
Note | Any other suitable method is followed to get the
corvect answer fll marks should be glven 3
R
| ay=14 @, =18 n=
tly —Fy =L&-14
d=19 '3
=14 - - L
| a4 = 14 |
, o= 14-4 :
| @=10 e
=10 d=4 n=26 '
- M u
==l = (n—1]d I
A ;.;l ! d] i
S35 = 221210+ (26-11x4]
Sge =13 [0+ 45%4 | |
Sye=13[20+100 | ﬁ
B.. =13 x 120 .
Byq = 1560 | 2
RR-A [MA] | TUTT Over
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Qn; Marks
Value Paint
Woes. akidiccais allothed

26, | Divide P x) = 27 -3x% + 523 by glx)=xf —x+ 1,
then find the quotient g | ¢} and remainder r| 2],

Ans
x—=2
.mz—.r-I].u:a—Ex3+5.1:—3|:
L
|
— =} 1=)
—Zx A3 2
B, P
Rl T o O o
dz—1
glxj=x-2 ¥
Fla]=2x~1 e 3

|
27, | Prove that [secA-pos A} |cotA=tand)=1and. sec A,

‘ OR

1 A, 8 and € are interior angles of a triangle then prove

]

thai
= B
l—t&nz[u -::-:use-:g[
= Ay

)

| g,

[ T H S

|&8Cc A -Tos A} cot A ~tan A)
| Wy

~roEA l

- ~lan g A
Leosd fiEn A

(séas A 1oeanta)
cos A | fan A

[} 13 :l '|I .I' :I "-I
_| Sm~ A | [ 5Eg" A %
, EDEA | tAanAl)

—_—

| RR-A (MA) |
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n?::-. Value Points SR
_,'r sinﬁuinﬁ)[ 1 !cua.ﬁJ "
IIL ons A |;':1.|:|g.2 A ginA
e m
cosA) Loos A | )
=tnA,.secq=RHB ¥
Alternate method
L. H.S
e 1
= e ﬁ.] Cos A | s;:_“!.'l i
L ooE A lslnﬂ cog A
o l—msiajlr:uazﬂfsiniﬂ v
cosA || sinAcosA
= sin® Aﬁl | ": 1
cosd | lgind.cosa |
_[smal 1 "
(oos Al cosA
3
=fan A een A = EoH B b
I
CiR
|A+E—+ C=180" i
| A=-B= 180 -C+2 Ve
A-8 180 €
2 2 3
, A;B - iy % taki see” on both sides Wy |
I
A ALBY i =T |
s === .jm.s.gf |_|l_'||j 3} |,.,:1|
ser | Lk _UM“RI'E ' % |
=% 3]
4 L 1 I
1=tan™ [L7RN = ctsec % 7 |
L ] o o
_RR-A [MA | Turm fver
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Qn. Marks
Nos. Falue Pointe " d

ag. | The peints A, B and C are collinear, IFA[1, O], B(4, 4}

| Pley |=[

Al ) =L 0) B4 4] C=feg )

and AC =8 cm, then find the coordinates of paint £

Ans, .

AL o) Bl

. frstance betareen

s

= J{a-1P +(a-0)?

AB={(xy=x 1 g P

_ |'32 42

el L
= BC=4C-AR
=8-5
=3 cm

Co-ordinates of C=

=1 1. 4
'i'q'|":|'|__ i EI

JT.l.I_.'-l'.'-E + TRE .33.'1

mly,_-‘ + mgyl

m

im

1

I:ﬂ'l-:=5-23

A1
2k}

+ M
=

F'l"I:-II-ﬁl'?!-.2

\ a+3

ia

¥i
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i‘; Valag Polnts :;:::1
a5, | Caleulate the mean for the data in the fl:::lluwl.ng' freqguency
distribution table :
Claszintervat | Freguency [ f; )
| B—18 A
15-23 (5]
25335 2
s R | L
| a5-s55 a
i z L-:.EE
OR
Calculate the mode for the data in the following frequency
distribution table :
! Class-tnlarual | Frequency
10-15 | |
E5-—2n ! 3
20 - 23 ' 7
B = 30 I f
. | 30-35 o
| Ans
| .1 i % fe¥y
| 545 4 10 an |
| 15-25 & 20 120
25-25 3 2 130
S5 B 41 240
| 453 | & | a0
' ¥ £=35 2 fix =780 | |
_RR-A (MA) | Turn aver
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Om. Marks
e Value Points P

Finding Mid-points 1
Finding f.x, 1
b £ Ta0
Mean {X] = 2 b Iy
0
X=30 i
Note : Any other suitable method is foliowed to get the 3
corect answer full marks should be grven.
¥R
From the freqency distribution table we find that,
fo=3  fi=7 =0 ha5and - 20 I
. .
| Modle = I+ & % h W
I _E_II"] = .|r|:| = _irg
2 s e .
= 2+ w |
| e e s 4
T A e
- 304 ! 3
plbaeiy
| I* 5
=0kl s
- 05
Mode =20+ 4 '.-&l
| Mode = 24 | 2
3. The daily income of 50 workers of a factory were recorded

as follows. Draw “less than type” ogive for the given dats.

Denly- incamein s, Namber of workers

Less than 100 1D
Less than' |20 5
Less than 140 33
Less cthan 160 i
Less than 180 i =14

e
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O, . Marks
 Noa. Valae Paints allotted

| Drawing axis and writing scale 1 |

Markibg points 1
Drawing ogiee 1 3

31, | Prove that *The tangent at any point of a circle 'r-n|
perpendicular to the radins through the point of contact”,

Ans,

.

[aza © F iz the centre ol the circle XY 1@ s tangent Lo the

|
I.'- ill
wR
P o

Ya

circle at P B

_T.F_I'.A-.EMAI | Turm over
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On. Marks
Nos. Value Poinke allotted

To:prove; OF L XY e
Canstruction:Take a point ¢ on XY other than P and join
Q. e
Prooi 0 = DR - B
OF = 18 | Badii of snme cirele )
QR = OP+ R
CHl = 0f i
CFis the shortest of all the distances from O o XY
LRl Xy Wa
Note : If the:theorem 8 proved as given in the text-book
pive il marks,
3
37 | Construct a triangle with sides 5 e, & cmoand & cm. Then
consiruct another  triangle whose sides are % of the
|
| corresponding sides of the first trlangle
I'Ana. e
7
# B \K\'\
i .-/ |I I
1 -“‘-\"-\.\_\_\_\-\- II-| | n
'\-\._H e | |
[ = [
| Hﬂx-\""‘-\-. _,-""l.,f'—'_'—l I
| L |
i
l Constnrction of given triangle I
constructon of acute angle with division i
Prawing parallel lines |
I Obtaining required triangle 1 a

RE-AIMA} |
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Qm.

Nos.

Vialun Polats

353, | The sides of a square touch the circle of radiua v as
| shown in The ﬁ_l;urr' IT the nren of the shaded Tﬂginn ]

42 pm? then find the radinE of the cirele.

Ienigth of the are AR 15 22 om

OR

In the Ggure the aren of the sector &H 18 231 em? and

BECIO

Radius of the circle be = ¢

oEte ol B square = i

area of 2haded reglon =

Aren of the B ATE — Nreg of the circle

a1

4d.= |dr i'.: —Fr"
Ee B TSN
=] l|".|.|. -k

Bilzibl i

Find the radius of the

31-E

Marks |
Bl W

T over
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i Valoe Points =i
Now. allotted |
Yz
Ya
1
Ly
| OR
. :
[
[
23] em’ ' |
1
_ [
| |
| [
0
| Arés of the dector (AR = 231 cm -~ |
2]
! EED-cnr2=:r.:11cm3............. s i 1 '
Length of the arc AF= 22 ¢m .
! |
AL e e e i 7 |
60
(1] =4 2) |
'l.-l | s |
el awat |
= = II'.E
i T
356" |
|
- |
r=21cm ¥ 3
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::: Valus Palnts -1“1::::5
V. Answer the following questions : G x4 = 16 |
34 | Find the sohition of the given pair of linear equations by i
graphical method :
s
2x+-y = 6 |
Ang. |
|
|
i ‘ 5] 0 g 810 ,
Far table construction 1+
| Drawing two lines by marking potnts 1
Marking point of intersection and writmg values of
x and Y i
Wote i Any other points may be considersd to get straight
lines &£

E‘ﬂ_ﬁf [ Turm over
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Mok, Value Point=

35, The denominator of a fraction s 3 more than s

numerator. If the sum of this fraction and its reciprocal is

12—3 thien find the fraction.

OR
A student bought some books for Rs. 60, Had he bought 5
more: books for the same amount each book would have
cost him Re. | less. Find the number of books bought by
Firm,
Ans, :

' Let the numerator of the fraction be x

Benominator ¢ - 2

Eequired fraction
L+3

L£+3° 29
3 =i ¥
X+ a4 X 10
xux+[x+3) okd] 29
[x+3)x T 10
x° 4--Iff1'+3]2 25
xiz+3] 10

According 1o data

-

xfwx® <20y 337 5y

.1:21-3_&: HE |
FE LT A
-TEI'EJI' =1_':'

3 B 90 .

= a i

.'|:E + K 10
10425% + B+ 0)=20{ ¥ +3x |
204% 4 B0x<90=29x" +ETx
26x7 + BT - 20x" <6y -S0=0
9% L2376 90 =0+0

4 3x-10=0 ]

RR:-A [MA)
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81-E

Qn.
Hos.

Value Painka

allotted

£ 4 5x=2x-10=0
X[x+5)-2{x+5)=0
[x+a] [ x=-2]=0
X+3=0 x-2=0
X1 X

¥ 2

e
o Required [raction ;E=E'+_3 =§

OF

Let the number of books be = x

Total cost of hooks = Ra. B0
' , i
Cozt pf each book = S

I he bought 5 more books then mumber of books =x+ 5

| then. cost of crach bookk = ——
x+0

Alrding 1o dats
&0 &0
X X+5
60{x+5)=-60x 4
X[x+5]
B+ 306 ~_;.ﬁx_1

134-5.1'

Y4 Bx-300=0

%%+ 20x~15%— 300 =0
x{a+20)=15[x=30}=0
[x+20) |2=15]=0
p==320 ar x=15

Number ol books | 2= 13

_RR-A (MA}

%

r:'\.
S

FLLrE cver
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= e o =
36, | & 142 m tall g spots a balloon moving with the wind in a

angie of elevation of the balloon from the

By the balloon during the interval.

S

horizontal ling at a height of 88-2 m from the ground: The

any Instant {s 60° After some time the angle af slevation
| reduces to 30" | see the fipure ). Find the distance travelled

eves of the girl at

o yrs e
II.l : _‘I_.-r'" I
.r'r | o - :
1 e 1
e |
i : _.."F :
i = i
# i) !
.lII o i :
e :
g | '
I '*i'_:l'!\'h-_,,._..if....-l..-..“‘ : ]
IF ! -| i
(L8 [
Anzs
Y o
+ e |
i ¥ | :
s ! - i
’ Foa i AE2 m
y .—\-: S , :
i :i_i__ !q___:":l __________________ I”
LeE | |
.I ’
Helght of a ballen from 1|- BR3-12=87m 4
| horizootal line |
AR E |
{1ty AAER thnd=—7Fom |
BE |
| BT
tan 30 =—— |
BE
1 a7 " I
3 BE |
BE = 743
2]
[N ACER tan fls — 14
0DE

RR-A {MA] |

e
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Qn. | Marks
Nos. o | allottad
e '
2Tl =
DE ',
BT
R Y
DE
g BT 29 A =
IR CE
DE = 20,03
Digtance travelled by the ballonn = ¥
. A =0 =8BE -DE
' B743-2043 T4
5843 m 4
47 | Prove that "the ratio of the areas of two similar triangles ia [

gqual to the square of the ratio of their corvesponding
sieles™,
Ans:

Fd | J ] e
1 L Ly
Fraes b dALC = AN ¥4
' AB BC AC
| PO OR PR
! ar( ABC) l-'-fua“-“ (BEY fm:]l .
T T =t = | — i | =— .
0O prove |;|_r|P{;’R_| X FL_"l_lnl I\,EEJ JI-'R
Conatruction : Draw AM L BC and PN L QR ¥
|
70 SR =
ar| POR) 'I"E'R PN
.
A
e (S |11 iy

ar | POR)  OR =< PN
In AARM and APON

LR= 20| v AABC = APOR)

M= N=090" | construction |

_RR-A [MA) | Turn over
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On.
Value Painks
Nos.

AABM ~ APON| A - A similarity criterion )
AM AR
PN PQ
| AABC ~ APQR [ Given |
AB BC AC
Fo T oR R (3]
ar|ABC) AB  AM
ar(FQR] PO BN
AB AR .
=EHE "
(AR
5

| From [1) and (3) |

[
| Using {3) we get

ar{ ABC) [FLEM'I:: ’ E'C‘IE [_&Cﬂ
(PR |70, ~|oR) | PR

VL Answer the following question : lxS=5

38 | A dustbin in the form of & fmistum of a cone 15 mounted
on the circular base of a hollow eylinder as shown in the
figure. The radii'of circular top and bottom of the dustbin

nnd its slant height are 18 om, 8 cm-and 36 om

|
réeapectively. The radiuas and height of the cylinder are

&om and & ¢m respectively. If the total height of the gven .

solid (5 30 om, then find the valume of the dusthin and
also the curved surface ares of the entire solid.




| CCE RR | a7 B1-E
R Value Points
Nos. alfotted
Ang. :
S rm
=18 Ty =8 =25 o
Height of the eyhnder =6 cm
Hesght of the frustum = [ 30 -6 ) = 29 cm E
I
Vaolume of the furstum W]:Enhqrﬁ . r._,_z whr
1v3n%u33 «24{18° < B* +15.8|
=}%. s ot eoh® a0y Lpa e
o 176558970
it
_ V= 13376 cri |
C.8.A of entire aolid = [
S A o frusiurn = C3A ol cvlinder i
= nfrrrgil=2neh i
. | |
- i‘;fg—qls-m«-zﬁ?zn%xsxﬁ | '
22 23 |
Pt 1 Pl Pl
= [20=d6]4 2% - = A48
I
= 22 67696 | |
. ; 232 |
C.5.A ofentire solid: = Tx?'i’i e
_ 1R984
T ? |
| = 242628 cim | 3







